
CHEMISTRY

BOOKS - EVERGREEN CHEMISTRY (ENGLISH)

PERIODIC TABLE (PERIODIC PROPERTIES AND

VARIATION OF PROPERTIES)

Question

1. Which of the following is generally true. A: Atomic size increases

from left to right across a period. B: Ionization potential increases

from left to right across a period. C: Electron affinity increases on

going down a group. D: Electronegativity increases on going down

a group.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VrFHIzFNSgdI


2. Name the first and last element in period 2

Watch Video Solution

3. What happens to the atomic size of elements on moving from

top to bottom of a group.

Watch Video Solution

4. Which of the elements has the greatest electron affinity among

the halogens.

Watch Video Solution

https://dl.doubtnut.com/l/_VrFHIzFNSgdI
https://dl.doubtnut.com/l/_CI8K6K6LA2ik
https://dl.doubtnut.com/l/_6GsNfiF8vUkm
https://dl.doubtnut.com/l/_hlS5S7QHndMW


5. What is the common feature of the electronic configurations of

the elements in group 17[VIIA]

Watch Video Solution

6. If an element has a low ionization energy then it is likely to be

_______ [`"metallic"// "non-metallic"]

Watch Video Solution

7. If an element has seven electrons in its outermost shell then it is

likely to have the _____ [largest/smallest] atomic size among all the

elements in the same period.

Watch Video Solution

https://dl.doubtnut.com/l/_PuQv0mWmoKWh
https://dl.doubtnut.com/l/_OgR9rijMg2ku
https://dl.doubtnut.com/l/_0PthaXU5uDIs


8. Be, Mg, Ca, Sr, Ba are group 2 metals. Which of these will form

ions most readily and why.

Watch Video Solution

9. What property of an element is measured by electronegativity.

Watch Video Solution

10. Among Period-2 elements - Lithium, Carbon, Fluorine, Neon-

State the one which has high electron affinity.

Watch Video Solution

https://dl.doubtnut.com/l/_0j3wu3LnLaPD
https://dl.doubtnut.com/l/_JRoSFw1hcFX0
https://dl.doubtnut.com/l/_iHY86NceWfdG


11.  

Some elements are given in the above table in their own symbol &

position in the periodic table, while others [shaded] are shown with

a letter. With reference to the table. 

How many valence electrons are present in G

Watch Video Solution

12. 


Some elements are given in the above table in their own symbol &

position in the periodic table, while others [shaded] are shown with

a letter. With reference to the table. 

Write the formula of the compound between B and H.

W t h Vid S l ti

https://dl.doubtnut.com/l/_PRVHg15klFOY
https://dl.doubtnut.com/l/_YObhUFR53bd4


Watch Video Solution

13.  

Some elements are given in the above table in their own symbol &

position in the periodic table, while others [shaded] are shown with

a letter. With reference to the table. 

In the compound between F and J, what type of bond will be formed

Watch Video Solution

14.  

Some elements are given in the above table in their own symbol &

https://dl.doubtnut.com/l/_YObhUFR53bd4
https://dl.doubtnut.com/l/_gcJs68ZDvIa8
https://dl.doubtnut.com/l/_YeI6McxZVp6M


position in the periodic table, while others [shaded] are shown with

a letter. With reference to the table. 

Draw the electron dot structure for the compound formed between

C and K. potential.

Watch Video Solution

15. Define the following term - Ionization potential

Watch Video Solution

16. Select the correct answer: 

The no. of electrons in the valence [outermost] shell of a halogen is

A:1, B:3, C:5, D:7

Watch Video Solution

https://dl.doubtnut.com/l/_YeI6McxZVp6M
https://dl.doubtnut.com/l/_2OACpnqAmxcH
https://dl.doubtnut.com/l/_PtWp0Wa0KM60


17. Select the correct answer: 

Non-metallic character down the group - 

Watch Video Solution

increases/decreases

18. Select the correct answer: 

Non-metallic character down the group - 

Watch Video Solution

increases/decreases

19. Atomic number of an element is 16. State 

To which period it belongs

Watch Video Solution

https://dl.doubtnut.com/l/_1koOeHAQShPm
https://dl.doubtnut.com/l/_RCGCPLe8bzAC
https://dl.doubtnut.com/l/_15yyIBVczyrH


20. Atomic number of an element is 16. State 

The number of valence electrons in the element

Watch Video Solution

21. Atomic number of an element is 16. State 

Is the element a metal or a non-metal

Watch Video Solution

22. Define the term 

Ionisation potential

Watch Video Solution

https://dl.doubtnut.com/l/_FFD101il4xUd
https://dl.doubtnut.com/l/_UtjfiOtssOFD
https://dl.doubtnut.com/l/_Ru0Ie9YyFfr8


23. Define the following terms: 

Electron affinity .

Watch Video Solution

24. Give reason - The oxidising power of elements increases from

left to right along a period.

Watch Video Solution

25. Select the correct answer 

Across a period, the ionization potential [increases, decreases,

remains same].

Watch Video Solution

https://dl.doubtnut.com/l/_jKzJiZ8UCJ6j
https://dl.doubtnut.com/l/_VHHSxGeq2JeH
https://dl.doubtnut.com/l/_LWFQnymBfhVF


26. Select the correct answer 

Down the group, electron affinity [increases, decreases, remains

same]

Watch Video Solution

27. Choose the correct answer: In the periodic table alkali metals

are placed in group - A:1, B:11, C:17, D:18 Which of the following

properties: do not match with elements of the halogen family, A :

They have seven electrons in their valence shell, B : They are highly

reactive chemically, C: They are metallic in nature, D: They are

diatomic in their molecular form.

Watch Video Solution

https://dl.doubtnut.com/l/_3pPVNsTRm32s
https://dl.doubtnut.com/l/_eD1fUhuxa4qh


28. Give the number of group and the period, of the element having

three shells with three electrons in valence shells.

Watch Video Solution

29. Select the element in period 3 whose electron affinity is zero -

A:Neon, B:Sulphur, C:Sodium, D: Argon

Watch Video Solution

30. Give reason: 

I.P. of elements increases across a period,

Watch Video Solution

https://dl.doubtnut.com/l/_gRcUuqpU6OXK
https://dl.doubtnut.com/l/_cHzlzdoMIttg
https://dl.doubtnut.com/l/_Yb6esKRtSGHL


31. Give reason: 

Alkali metals are good reducing agents

Watch Video Solution

32. There are three elements E, F, G with atomic numbers 19, 8 and

17 respectively. 

Classify the elements as metals and non- metals.

Watch Video Solution

33. Name A metal present in period 3, group I of the periodic table.

Watch Video Solution

https://dl.doubtnut.com/l/_9fljzPD7OhsN
https://dl.doubtnut.com/l/_cTPbZfXRNEyZ
https://dl.doubtnut.com/l/_kRiqbImI6Uxz


34. Among the following elements - Lithium, Carbon, Chlorine,

Flourine-State the one which has high electron affinity.

Watch Video Solution

35.  


• In this table H does not represent hydrogen. 

• Some elements are given in their own symbol and position in the

periodic table. 

• While others are shown with a letter. 

With reference to the table answer the following questions : 

Identify the most electronegative element.

Watch Video Solution

https://dl.doubtnut.com/l/_3PTeJjy9mVPG
https://dl.doubtnut.com/l/_98YaOtYexbLT


36. 

In the above table - H does not represent hydrogen. Some elements

are in their own symbol & position in the periodic table while

others are shown with a letter. Identify 

The most reactive element of group I.

Watch Video Solution

37. 


In the above table - H does not represent hydrogen. Some elements

are in their own symbol & position in the periodic table while

others are shown with a letter. Identify 

The element from period 3 with least atomic size.

https://dl.doubtnut.com/l/_eqfwDBHLrGGE
https://dl.doubtnut.com/l/_Zkb3MwWk2CvS


Watch Video Solution

38.  


• In this table H does not represent hydrogen. 

• Some elements are given in their own symbol and position in the

periodic table. 

• While others are shown with a letter. 

With reference to the table answer the following questions : 

Identify the noble gas of the fourth period.

Watch Video Solution

https://dl.doubtnut.com/l/_Zkb3MwWk2CvS
https://dl.doubtnut.com/l/_4JriwsYW9W2T


39. 

In the above table - H does not represent hydrogen. Some elements

are in their own symbol & position in the periodic table while

others are shown with a letter. Identify 

How many valence electrons are present in Q.

Watch Video Solution

40.  


In the above table - H does not represent hydrogen. Some elements

are in their own symbol & position in the periodic table while

others are shown with a letter. Identify 

https://dl.doubtnut.com/l/_kPkeU5TYdMnJ
https://dl.doubtnut.com/l/_2khOlKnRY4Ot


Which element from group 2 would have the least ionization

energy.

Watch Video Solution

41. 

In the above table - H does not represent hydrogen. Some elements

are in their own symbol & position in the periodic table while

others are shown with a letter. Identify 

In the compound between A & H what type of bond is formed &

give its molecular formula.

Watch Video Solution

https://dl.doubtnut.com/l/_2khOlKnRY4Ot
https://dl.doubtnut.com/l/_O4WSBoJTCigM


42. Identify: The element which has the highest ionization

potential.

Watch Video Solution

43. Choose the correct answer: 

Ionisation Potential increases over a period from left to right

because the:

A. Atomic radius & nuclear charge increases

B. Atomic radius & nuclear charge decreases

C. Atomic radius increases & nuclear charge decreases

D. Atomic radius decreases & nuclear charge increases.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ofYBG7qjaplA
https://dl.doubtnut.com/l/_nzzWSTVuIE8F


44. Choose the correct answer: 

An element A belonging to Period 3 & Group II will have –

A. 3 shells & 2 valence e electrons

B. 2 shells & 3 valence electrons

C. 3 shells & 3 valence electrons

D. 2 shells & 2 valence electrons

Answer:

Watch Video Solution

45. Atomic number of element Z is 16. 

State the period & group to which Z belongs.

Watch Video Solution

https://dl.doubtnut.com/l/_nzzWSTVuIE8F
https://dl.doubtnut.com/l/_sxpS1MbYCgqU
https://dl.doubtnut.com/l/_AMjkZPnAeNjU


46. Atomic number of element Z is 16. 

Is Z a metal or a non metal.

Watch Video Solution

47. Atomic number of element Z is 16. 

State the formula of the compound bètween Z& Hydrogen. What

kind of compound is this.

Watch Video Solution

48. In the activity series of metals-M is a metal above hydrogen in

the activity series & its oxide has the formula  when dissolved

in water forms the corresponding hydroxide which is a good

conductor of electricity 

What kind of combination exists between M & O

M2O

https://dl.doubtnut.com/l/_WWEY45J8ACNl
https://dl.doubtnut.com/l/_ssjhV5Q9RcXx
https://dl.doubtnut.com/l/_Htv38FnwTYEB


Watch Video Solution

49. In the activity series of metals-M is a metal above hydrogen in

the activity series & its oxide has the formula  when dissolved

in water forms the corresponding hydroxide which is a good

conductor of electricity 

State the no. of electrons in the outermost shell of M.

Watch Video Solution

M2O

50. In the activity series of metals-M is a metal above hydrogen in

the activity series & its oxide has the formula  when dissolved

in water forms the corresponding hydroxide which is a good

conductor of electricity 

Name the group to which M belongs.

Watch Video Solution

M2O

https://dl.doubtnut.com/l/_Htv38FnwTYEB
https://dl.doubtnut.com/l/_9VsuGGjgUBjc
https://dl.doubtnut.com/l/_XuZkT1SaHxcq


51. Give a phrase for. Amount of energy released when an atom in

the gaseous state accepts an electron to form an anion

Watch Video Solution

52. Match the option A: Metal or B: Iron - with the statements i] &

ii] The metal that forms two types of ions ii] An element with

electronic configuration 2,8,8,3

Watch Video Solution

53. The element with the least electronegativity is: A: Lithium B:

Carbon C: Boron D: Fluorine

Watch Video Solution

https://dl.doubtnut.com/l/_Irlv9bIDpDed
https://dl.doubtnut.com/l/_3Z0VeipuhHWN
https://dl.doubtnut.com/l/_VFyzGfHblAng


54. Arrange the elements as per the instructions: 

Cs, Na, Li, K, Rb [increasing order of metallic character].

Watch Video Solution

55. Arrange the elements as per the instructions: 

Mg, CI, Na, S, Si [decreasing order of atomic size].

Watch Video Solution

56. Arrange the elements as per the instructions: 

Na, K, CI, S, Si [increasing order of ionization energy].

Watch Video Solution

https://dl.doubtnut.com/l/_chdp0w6tmzMg
https://dl.doubtnut.com/l/_OYdBgBNHQzYw
https://dl.doubtnut.com/l/_xIUYr2orf4QF


57. Arrange the elements as per the instructions: 

Cl, F, Br, I [increasing order of electron affinity].

Watch Video Solution

58. Select a covalent oxide of a metalloid from the following -

Watch Video Solution

SO2, SiO2, Al2O3, MgO, CO, Na2O

59. The metals of Group 2 in the periodic table from top to bottom

are - Be, Mg, Ca, Sr, & Ba 

Which one of these elements will form ions most readily. Give

reasons.

Watch Video Solution

https://dl.doubtnut.com/l/_Fh04mPMrSSUs
https://dl.doubtnut.com/l/_GKqWIUfJLy8K
https://dl.doubtnut.com/l/_iHs0wfXXLW59
https://dl.doubtnut.com/l/_dQ3yzJgWOHDq


60. The metals of Group 2 in the periodic table from top to bottom

are - Be, Mg, Ca, Sr, & Ba 

State the common feature in the electronic configuration of all

these elements given.

Watch Video Solution

61. Select the correct answer from A, B, C & D: An element with the

atomic number 19 will most likely combine chemically with the

element whose atomic number is:

A. 17

B. 11

C. 18

D. 20

Answer:

https://dl.doubtnut.com/l/_dQ3yzJgWOHDq
https://dl.doubtnut.com/l/_xMMKEur3j2bc


Watch Video Solution

62. Identify the term in each of the 

The tendency of an atom to attract electrons to itself when

combined in a compound.

Watch Video Solution

63. Identify the term in each of the 

The electrons present in the outermost shell of an atom.

Watch Video Solution

64. Write the correct symbol:  [greater than] or  [less than]

in the statements: 

The ionization potential of potassium is __________ that of sodium.

> <

https://dl.doubtnut.com/l/_xMMKEur3j2bc
https://dl.doubtnut.com/l/_2LMMTbb7m683
https://dl.doubtnut.com/l/_z2FLg19HuhfC
https://dl.doubtnut.com/l/_3V7uaYo9MPFU


Watch Video Solution

65. Write the correct symbol:  [greater than] or  [less than]

in the statements: 

The electronegativity of iodine is __________ that of chlorine.

Watch Video Solution

> <

66. Use the letters only written in the Periodic Table below to

answer the question : 

State the number of valence electrons in atom J.

Watch Video Solution

https://dl.doubtnut.com/l/_3V7uaYo9MPFU
https://dl.doubtnut.com/l/_orvVSmMAlykE
https://dl.doubtnut.com/l/_L3Cz3giKCjnP
https://dl.doubtnut.com/l/_c4Bq2DcpKfVQ


67. Use the letters only written in the Periodic Table below to

answer the question : 

 

Which element shown forms ions with a single negative charge.

Watch Video Solution

68. Use the letters only written in the Periodic Table given below to

answer the questions that follow : 

 


Which element has its electrons arranged in four shells ?

Watch Video Solution

https://dl.doubtnut.com/l/_c4Bq2DcpKfVQ
https://dl.doubtnut.com/l/_OaiKRCkZ4WpQ


69. Use the letters only written in the Periodic Table below to

answer the question : Which element has its electrons arranged in

four shells.

Watch Video Solution

70. Fill in the blank by selecting the correct word: 

If an element has a low ionization energy then it is likely to be

________ [metallic/non metallic]

Watch Video Solution

https://dl.doubtnut.com/l/_OaiKRCkZ4WpQ
https://dl.doubtnut.com/l/_boPIxJaC7rHQ
https://dl.doubtnut.com/l/_8SMlJ9cUkHa3


71. Fill in the blank by selecting the correct word: 

If an element has seven electrons in its outermost shell then it is

likely to have the _______ [largest/smallest] atomic size among all

the elements in the same period.

Watch Video Solution

72. Select the correct answer - The energy required to remove an

electron from a neutral isolated gaseous atom & convert it into a

positively charged gaseous ion is called ________ [electron affinity,

ionisation potential electronegativity]

Watch Video Solution

73. Match the atomic number 2, 4, 8, 15 & 19 with each of the

following - i] A solid non-metal belonging to the third period. ii] A

https://dl.doubtnut.com/l/_0NofVEqFPwal
https://dl.doubtnut.com/l/_EoTBKMuqcgRc
https://dl.doubtnut.com/l/_kOv7bJQJZZfT


metal of valency 1. iiiA gaseous element with valency 2 iv] An

element belong ing to Group 2. v] A rare gas.

Watch Video Solution

74. Arrange as per the instruction 

He, Ar, Ne [Increasing order of the number of electron shells]

Watch Video Solution

75. Arrange as per the instruction 

Na, Li,K [Increasing ionisation energy].

Watch Video Solution

76. Arrange as per the instruction 

F, C, Cl [Increasing electronegativity].

https://dl.doubtnut.com/l/_kOv7bJQJZZfT
https://dl.doubtnut.com/l/_qtowJlZ0VLMi
https://dl.doubtnut.com/l/_VZPE1HOgR0j7
https://dl.doubtnut.com/l/_3SXxFb1H9kiq


Watch Video Solution

77. Arrange as per the instruction 

Na, K, Li (Increasing atomic size)

Watch Video Solution

78. Give one word or a phrase for the following statement: The

energy released when an electron is added to a neutral gaseous

isolated atom to form a negatively charged ion.

Watch Video Solution

79. Give reason : 

Inert gases do not formions.

Watch Video Solution

https://dl.doubtnut.com/l/_3SXxFb1H9kiq
https://dl.doubtnut.com/l/_geKeGGEYskqC
https://dl.doubtnut.com/l/_pDLZ5pVIegyd
https://dl.doubtnut.com/l/_KjzoYvUzyuaO


80. Give reason : 

Ionisation polential increases across a period-left to right.

Watch Video Solution

81. In Period 3 of the Periodic Table, element B is placed to the left

of element A. On the basis of this information, choose the correct

word from the brackets - to complete the following statements. 

The element B would have [lower/higher] metallic character than A.

Watch Video Solution

82. In Period 3 of the Periodic Table, element B is placed to the left

of element A. On the basis of this information, choose the correct

word from the brackets - to complete the following statements. 

https://dl.doubtnut.com/l/_KjzoYvUzyuaO
https://dl.doubtnut.com/l/_rB18zGk97j8z
https://dl.doubtnut.com/l/_OfZhcDjNnaPx
https://dl.doubtnut.com/l/_eEKc3TOahKd1


The element A would probably have [lesser/higher] electron affinity

than B.

Watch Video Solution

83. In Period 3 of the Periodic Table, element B is placed to the left

of element A. On the basis of this information, choose the correct

word from the brackets - to complete the following statements. 

The element A would have [greater/smaller] atomic size than B.

Watch Video Solution

84. Choose the correct answer from the options A,B,C&D given: The

most electronegative element from the following elements is:

A. Magnesium

B. Chlorine

https://dl.doubtnut.com/l/_eEKc3TOahKd1
https://dl.doubtnut.com/l/_feCwlYuodOqk
https://dl.doubtnut.com/l/_qbGZH2E4TyzM


C. Aluminium

D. Sulphur

Answer:

Watch Video Solution

85. Fill in the blank: In period 3, the most metallic element is

_____[sodium/magnesium/aluminium ]

Watch Video Solution

86. Give the appropriate term defined by the statement given: The

tendency of an atom to attract electrons towards itself when

combined in a covalent compound.

Watch Video Solution

https://dl.doubtnut.com/l/_qbGZH2E4TyzM
https://dl.doubtnut.com/l/_GObQpxLgLtAq
https://dl.doubtnut.com/l/_ZDV6k9GFS3pz


87. Arrange the following 

Li, K, Na, H [In the decreasing order of their ionization potential].

Watch Video Solution

88. Arrange the following 

F, B, N, O [In the increasing order of electron affinity]

Watch Video Solution

89. Study the extract of the Periodic Table given below and answer

the questions. Give the alphabet corresponding to the element in

question. Do not repeat an element. State which element: Forms an

electrovalent compound with G.

Watch Video Solution

https://dl.doubtnut.com/l/_VewWlLoMfNfE
https://dl.doubtnut.com/l/_lnvWzuOFCull
https://dl.doubtnut.com/l/_5UiXEEXuTuP2
https://dl.doubtnut.com/l/_oJDha7UAH0Tg


Additional Questions

90. Study the extract of the Periodic Table given below and answer

the questions. Give the alphabet corresponding to the element in

question. Do not repeat an element. State which element: Is non-

metallic and has a valency of 2.

Watch Video Solution

91. Study the extract of the Periodic Table given below and answer

the questions. Give the alphabet corresponding to the element in

question. Do not repeat an element. State which element: Is an

inert gas. State the ion of which element will migrate:Towards the

cathode during electrolysis

Watch Video Solution

https://dl.doubtnut.com/l/_oJDha7UAH0Tg
https://dl.doubtnut.com/l/_E3md26LRc8Co
https://dl.doubtnut.com/l/_bpBoZvSlAU0N


1. State the fundamental property on which the modern periodic

table or long form of periodic table is based.

Watch Video Solution

2. State the important salient features of the modern periodic

table. State how separation of elements and periodicity of elements

forms an important feature of the modern periodic table.

Watch Video Solution

3. What are 'periods'. State the correlation of a period number with

the elements of that period.

Watch Video Solution

https://dl.doubtnut.com/l/_bpBoZvSlAU0N
https://dl.doubtnut.com/l/_mdF42uYAgK16
https://dl.doubtnut.com/l/_b3JWs2gzfPkY


4. Name the elements in correct order of their increasing atomic

numbers present in the first, second and third short periods of the

periodic table. State each elements electronic configuration.

Watch Video Solution

5. Give a reason why 

completion of each period is logical

Watch Video Solution

6. Give a reason why 

period-2 elements are called bridge elements

Watch Video Solution

https://dl.doubtnut.com/l/_F2D8hMQtyZSi
https://dl.doubtnut.com/l/_R4nBbFT3xFqW
https://dl.doubtnut.com/l/_qoIYzYSYzbnK


7. State the property trends in general on moving from left to right

in a period of the periodic table.

Watch Video Solution

8. State 

the bonding & state of chlorides of period-3 - group 1 [IA], 15 [VA],

16 [VIA]

Watch Video Solution

9. State 

the bonding & character of oxides of period-3 - group 1 [IA], 13 [IIIA]

and 16 [VIA].

Watch Video Solution

https://dl.doubtnut.com/l/_RJHe3o8qcRfv
https://dl.doubtnut.com/l/_UL3A31lhnKIQ
https://dl.doubtnut.com/l/_6DvcP12wa5Cz
https://dl.doubtnut.com/l/_sYn01IVSRUyr


10. What are 'groups' of the Modern Periodic Table. What does the

group number' signify.

Watch Video Solution

11. State the type of elements present in 

group 1 [IA]

Watch Video Solution

12. State the type of elements present in 

group 2 [IIA]

Watch Video Solution

https://dl.doubtnut.com/l/_sYn01IVSRUyr
https://dl.doubtnut.com/l/_FFZbPkwa69LW
https://dl.doubtnut.com/l/_IYlIiNfjsndK


13. State the type of elements present in 

group 3 to 12 [1B to VIIB & VIII]

Watch Video Solution

14. State the type of elements present in 

group 13 to 16 [IIIA to VIA]

Watch Video Solution

15. State the type of elements present in 

group 17 [VIIA]

Watch Video Solution

https://dl.doubtnut.com/l/_yphVof2hRHgu
https://dl.doubtnut.com/l/_prs4slG5Evc8
https://dl.doubtnut.com/l/_K6xRAiRDXIiC


16. State the type of elements present in 

group 18 [0].

Watch Video Solution

17. What are transition elements and inner transition elements.

State the position of the inner transition elements state why nobel

gases are considered unreactive elements.

Watch Video Solution

18. Compare the properties of the elements of group 1 [IA] i.e. alkali

metals and group 17 [VIIA]i.e. halogens.

Watch Video Solution

https://dl.doubtnut.com/l/_B0HrOtcbuAvY
https://dl.doubtnut.com/l/_VG1Ow56xvYQd
https://dl.doubtnut.com/l/_Drsy1PRRD9iP


19. Explain the term 

periodicity in properties of elements

Watch Video Solution

20. Explain the term 

periodic properties

Watch Video Solution

21. Explain the term 

periodicity of elements.

Watch Video Solution

https://dl.doubtnut.com/l/_AAfYHlf2HbaH
https://dl.doubtnut.com/l/_CULBJCXGEkf6
https://dl.doubtnut.com/l/_EuG1spfYjOdX


22. State the reason for periodicity of elements in periods and

groups.

Watch Video Solution

23. Explain the meaning of the periodic properties 

atomic radius

Watch Video Solution

24. Explain the meaning of the periodic properties 

Ionisation potential

Watch Video Solution

https://dl.doubtnut.com/l/_Sk1rTvz7lyIL
https://dl.doubtnut.com/l/_ycZQLXRYrJZg
https://dl.doubtnut.com/l/_hOWGttfJaK1z


25. Explain the meaning of the periodic properties 

electron affinity

Watch Video Solution

26. Explain the meaning of the periodic properties 

electronnegativity

Watch Video Solution

27. Explain the meaning of the periodic properties 

non-metallic and metallic character.

Watch Video Solution

https://dl.doubtnut.com/l/_5AWuaDb406Jv
https://dl.doubtnut.com/l/_mSwbtCzn5N7j
https://dl.doubtnut.com/l/_4Y0Ickb2D7jl


28. State the factors which affect the atomic size of elements in a

periodic table. In period 2 from left to right, state which element

has the largest atomic size and which has the smallest, giving

reasons.

Watch Video Solution

29. Explain the trend in atomic radii on moving down a group, with

reference to the alkali metals in Group 1 [IA].

Watch Video Solution

30. State the factors which influence or affect the ionisation

potential of elements in a periodic table.

Watch Video Solution

https://dl.doubtnut.com/l/_1WZYCG7bnFEt
https://dl.doubtnut.com/l/_fIa1KxsbA6mI
https://dl.doubtnut.com/l/_CTAUxWL6VmsY
https://dl.doubtnut.com/l/_GhKZhs1sBcDS


31. Explain the trend in general of ionisation potential of elements 

on moving from left to right across a period

Watch Video Solution

32. Explain the trend in general of ionisation potential of elements 

on moving down a group. Give reasons for the change in the

periodic trend in each case.

Watch Video Solution

33. State the factors which affect 

electronaffinity

Watch Video Solution

https://dl.doubtnut.com/l/_GhKZhs1sBcDS
https://dl.doubtnut.com/l/_yc7gJEDg5KCV
https://dl.doubtnut.com/l/_nRlZkam6T4lc


34. State the factors which affect 

electronegativity of elements in a periodic table.

Watch Video Solution

35. State the factors which affect 

electronegativity of elements in a periodic table.

Watch Video Solution

36. Explain the trend in general of iſ electronaffinity ii]

electronegativity of elements - 

on moving from left to right across a period

Watch Video Solution

https://dl.doubtnut.com/l/_642fWHjsYbqk
https://dl.doubtnut.com/l/_gBnaI34sTKYd
https://dl.doubtnut.com/l/_9dBrsdlKxDGJ


37. Explain the trend in general of iſ electronaffinity ii]

electronegativity of elements - 

on moving down a group. Give reasons for the change in each

periodic trend.

Watch Video Solution

38. With reference to the alkali metals in Group 1 [IA] & the

halogens in 17 [VIIA] explain the trend in ionisation potential,

electron affinity and electronegativity on moving down the groups

in the periodic table.

Watch Video Solution

39. State the factors which affect the metallic and the non-metallic

character of elements in a periodic table.

https://dl.doubtnut.com/l/_83aQEqWJ6M8N
https://dl.doubtnut.com/l/_mxwi8nJgWH9T
https://dl.doubtnut.com/l/_ZTS94D9T65iG


Watch Video Solution

40. Explain the trends from metallic to non-metallic character of

the different elements in the first three periods.

Watch Video Solution

41. Explain with reasons the trends in metallic and non-metallic

character down a group.

Watch Video Solution

42. State how density and melting points of elements varies across

a period and down a group.

Watch Video Solution

https://dl.doubtnut.com/l/_ZTS94D9T65iG
https://dl.doubtnut.com/l/_xrKGrEjr35oq
https://dl.doubtnut.com/l/_6bugvtCgzwCL
https://dl.doubtnut.com/l/_wfRdAzYKsMHG
https://dl.doubtnut.com/l/_bwEksSCfkKNQ


43. State the general trend in periodicity in properties of oxides,

hydroxides, oxy-acids and hydrides of compounds of elements

across a period and down a group.

Watch Video Solution

44. State the relation between atomic number and atomic mass for

light elements. State which elements are considered radioactive

giving reasons.

Watch Video Solution

45. Name or state with reference to the elements of the modern

periodic table. 

The alkali metal in period 2 and the halogen in period 3.

Watch Video Solution

https://dl.doubtnut.com/l/_bwEksSCfkKNQ
https://dl.doubtnut.com/l/_El1DPfslzL15
https://dl.doubtnut.com/l/_atJE5wkcuM0A


46. Name or state with reference to the elements of the modern

periodic table. 

The noble gas having duplet arrangement of electrons.

Watch Video Solution

47. Name or state with reference to the elements of the modern

periodic table. 

The noble gas having an electronic configuration 2, 8, 8.

Watch Video Solution

48. Name or state with reference to the elements of the modern

periodic table. 

The number of electron shells in elements of period 3.

W h Vid S l i

https://dl.doubtnut.com/l/_atJE5wkcuM0A
https://dl.doubtnut.com/l/_9xU8ttF0wRnL
https://dl.doubtnut.com/l/_4tOKO4Oitakn
https://dl.doubtnut.com/l/_N1wSMbzrBmVd


Watch Video Solution

49. Name or state with reference to the elements of the modern

periodic table. 

The valency of elements in group 1[IA].

Watch Video Solution

50. Name or state with reference to the elements of the modern

periodic table. 

The metals present in period 3 and the non-metals present in

period 2.

Watch Video Solution

51. Name or state with reference to the elements of the modern

periodic table. 

https://dl.doubtnut.com/l/_N1wSMbzrBmVd
https://dl.doubtnut.com/l/_SO3NjYsmCjuf
https://dl.doubtnut.com/l/_7c9W7Mlrr1kj
https://dl.doubtnut.com/l/_8WUvcaBE20et


The group whose elements have zero valency.

Watch Video Solution

52. Name or state with reference to the elements of the modern

periodic table. 

The non-metal in period 3 having a valency 1

Watch Video Solution

53. Name or state with reference to the elements of the modern

periodic table. 

The formula of the hydroxide of the element having electronic

configuration 2, 8, 2.

Watch Video Solution

https://dl.doubtnut.com/l/_8WUvcaBE20et
https://dl.doubtnut.com/l/_yO2tzdCQDHR5
https://dl.doubtnut.com/l/_rLoiGK7bfmep


54. Name or state with reference to the elements of the modern

periodic table. 

The formula of the hydride of the halogen in period 3.

Watch Video Solution

55. Name or state with reference to the elements of the modern

periodic table. 

The formula of the sulphite of the element in period-3, group 1 [IA].

Watch Video Solution

56. Name or state with reference to the elements of the modern

periodic table. 

The element in period-3 which does not form an oxide.

Watch Video Solution

https://dl.doubtnut.com/l/_DnRsx58y9gG2
https://dl.doubtnut.com/l/_qzm8rT42ouvQ
https://dl.doubtnut.com/l/_3IuwvQdzPFyU


57. Name or state with reference to the elements of the modern

periodic table. 

The bonding [i.e. electrovalent or covalent) of the oxide of the

element in period-3 group 16 [VIA].

Watch Video Solution

58. Name or state with reference to the elements of the modern

periodic table. 

The character of the hydroxide of the element in period-3 group 13

[IIIA].

Watch Video Solution

https://dl.doubtnut.com/l/_3IuwvQdzPFyU
https://dl.doubtnut.com/l/_lOyNCFzZJDQd
https://dl.doubtnut.com/l/_lagxH2mSzG0F


59. Name or state with reference to the elements of the modern

periodic table. 

A light element in period-3 with a neutron/proton ratio around 1.

Watch Video Solution

60. Name or state with reference to the elements of the modern

periodic table. 

The element with the least atomic size from carbon, nitrogen,

boron and beryllium.

Watch Video Solution

61. Name or state with reference to the elements of the modern

periodic table. 

https://dl.doubtnut.com/l/_AwECfFzqIS0z
https://dl.doubtnut.com/l/_ot1fKXVgHBvF
https://dl.doubtnut.com/l/_VmN2R38dlgGC


The element, from the elements Li, Na, K, having the least number

of electron shells.

Watch Video Solution

62. Name or state with reference to the elements of the modern

periodic table. 

The element from the elements C, O, N, F, having the maximum

nuclear charge.

Watch Video Solution

63. Name or state with reference to the elements of the modern

periodic table. 

The element from the elements Be and Mg having a lower nuclear

charge.

Watch Video Solution

https://dl.doubtnut.com/l/_VmN2R38dlgGC
https://dl.doubtnut.com/l/_s4KjzVjNgQ0c
https://dl.doubtnut.com/l/_DIUufFaCZUDg


64. Name or state with reference to the elements of the modern

periodic table. 

The element from the elements fluorine and neon having a higher

electron affinity.

Watch Video Solution

65. Name or state with reference to the elements of the modern

periodic table. 

The period and group to which the element 'X' with electronic

configuration 2, 8, 8, 2 belongs.

Watch Video Solution

https://dl.doubtnut.com/l/_DIUufFaCZUDg
https://dl.doubtnut.com/l/_s5V1k1lnznLZ
https://dl.doubtnut.com/l/_ghA8hmfxeKy8


66. Name or state with reference to the elements of the modern

periodic table. 

The more electronegative element from the elements Ar, S, Cl of

period-3.

Watch Video Solution

67. Name or state with reference to the elements of the modern

periodic table. 

The element with the largest atomic size from the elements of

period-1, 2 and 3

Watch Video Solution

68. Name or state with reference to the elements of the modern

periodic table. 

https://dl.doubtnut.com/l/_CWdVSXwK91ui
https://dl.doubtnut.com/l/_yR9hUgmDb0ZB
https://dl.doubtnut.com/l/_qekPAD704Q72


The element with the highest ionisation potential from the

elements of period 1,2 and 3

Watch Video Solution

69. Name or state with reference to the elements of the modern

periodic table. 

The element from the elements Li, Na, K which has maximum

metallic character.

Watch Video Solution

70. Name or state with reference to the elements of the modern

periodic table. 

The element with maximum non-metallic character from the

elements of period-2

Watch Video Solution

https://dl.doubtnut.com/l/_qekPAD704Q72
https://dl.doubtnut.com/l/_rsyRj5VShV5W
https://dl.doubtnut.com/l/_4puBH97pSFQF


71. Name or state with reference to the elements of the modern

periodic table. 

The more non-metallic element from the elements S, P, Cl andAr

Watch Video Solution

72. Name or state with reference to the elements of the modern

periodic table. 

The more non-metallic element from the elements X' & 'Y having

elec.config. 2, 8,5 & 2,8,6 respectively

Watch Video Solution

73. Name or state with reference to the elements of the modern

periodic table. 

https://dl.doubtnut.com/l/_4puBH97pSFQF
https://dl.doubtnut.com/l/_8uLsXFKZPVDl
https://dl.doubtnut.com/l/_lnn0REoN69IZ
https://dl.doubtnut.com/l/_uYdUYFBdFPbp


Additional Questions Fill In The Blanks With The Appropriate Word S

In Each Case

The periodic property which relates to the amount of energy

required to remove an electron from the outermost shell of an

isolated gaseous atom.

Watch Video Solution

74. Name or state with reference to the elements of the modern

periodic table. 

The periodic property which refers to character of element, which

loses electrons when supplied with energy

Watch Video Solution

https://dl.doubtnut.com/l/_uYdUYFBdFPbp
https://dl.doubtnut.com/l/_M5uMdDqEFtx1


1. Fill in the blanks with the appropriate word/s 

Periods are ___ [5, 6, 7] horizontal rows of elements in the periodic

table and an element with three electron shells and two electrons

in its valence shell belongs to period _____ [6,3,1] and group

____[3,6,2]

Watch Video Solution

2. Fill in the blanks with the appropriate word/s 

Across a period the valence electrons ____ while down a subgroup

they ____[remain same/increase by 1].

Watch Video Solution

3. Fill in the blanks with the appropriate word/s 

Across a period, the electropositive character character _______and

https://dl.doubtnut.com/l/_X5tcEUMaY0YE
https://dl.doubtnut.com/l/_SLS1RF9jOmzC
https://dl.doubtnut.com/l/_VvFX19PSw8n0


down a group the electronegative character ________

[increases/decreases]

Watch Video Solution

4. Fill in the blanks with the appropriate word/s 

Elements at the extreme left of modern periodic table are _______

reactive while elements on the extreme right [group 18(0)] are

________ reactive [least/un/most]

Watch Video Solution

5. Fill in the blanks with the appropriate word/s 

Elements of group 1 [IA] are strong ______ [oxidising/reducing]

agents since they are electron _______ [acceptors/donors]

Watch Video Solution

https://dl.doubtnut.com/l/_VvFX19PSw8n0
https://dl.doubtnut.com/l/_MGs0ujojXbRF
https://dl.doubtnut.com/l/_5Kad0AcO0CKJ


6. Fill in the blanks with the appropriate word/s 

The element in group 17 [VIIA] which is a liquid at room

temperature is______ [ F CI, Br. I.]

Watch Video Solution

7. Fill in the blanks with the appropriate word/s 

Periodicity in properties is observed in elements after definite

intervals due to similar_____[electronic configuration, number of

valence electrons, atomic numbers] of elements

Watch Video Solution

8. Fill in the blanks with the appropriate word/s 

Across a period the nature of oxides and hydrides varies from ______

https://dl.doubtnut.com/l/_Qag2zFP8zBxo
https://dl.doubtnut.com/l/_NA3AUbo4PovS
https://dl.doubtnut.com/l/_b0DohkgLhvlj


to _______ [acidic/basic] while the strength of oxy-acids ______

(decreases/increases] from left to right.

Watch Video Solution

9. Fill in the blanks with the appropriate word/s 

Nuclear charge of an atom is the ____ [negative positive ] charge on

the nucleus of an atom, equivalent to the atomic ______

[number/mass] of an atom.

Watch Video Solution

10. Fill in the blanks with the appropriate word/s 

Atomic size of neon is ________ [more/less] than the atomic size of

fluorine.

Watch Video Solution

https://dl.doubtnut.com/l/_b0DohkgLhvlj
https://dl.doubtnut.com/l/_ONOP0sWOIGeF
https://dl.doubtnut.com/l/_UMbihkc4J8jK


11. Fill in the blanks with the appropriate word/s 

Atomic size across a period ______ [increases/decreases] with

increase in nuclear charge of the element.

Watch Video Solution

12. Fill in the blanks with the appropriate word/s 

With increase in nuclear charge the nuclear attraction for outer

electrons ____ [increases/decreases], hence ionisation potential

_________ [increases/decreases]:

Watch Video Solution

13. Fill in the blanks with the appropriate word/s 

Increase in nuclear charge of an atom ________ [decreases/increases]

the tendency of the atom to lose electrons.

https://dl.doubtnut.com/l/_R9A8DNGVq9C5
https://dl.doubtnut.com/l/_5bufeHax9H68
https://dl.doubtnut.com/l/_0A4kk6JbpRzb


Watch Video Solution

14. Fill in the blanks with the appropriate word/s 

Elements with stable electronic configuration e.g. neon have an

electron affinity value of ______ [1, 0,-1]

Watch Video Solution

15. Fill in the blanks with the appropriate word/s 

An atom with a small atomic radii takes up electrons __________

[less/more] readily than an atom with a large radii.

Watch Video Solution

16. Fill in the blanks with the appropriate word/s 

If combining atoms of a compound have nearly similar

https://dl.doubtnut.com/l/_0A4kk6JbpRzb
https://dl.doubtnut.com/l/_ljiBCyP65Adp
https://dl.doubtnut.com/l/_kkC1frdk57ot
https://dl.doubtnut.com/l/_oGbSSih2CkAZ


electronegativities the bond between them is _________

[electrovalent/covalent].

Watch Video Solution

17. Fill in the blanks with the appropriate word/s 

Elements with low electronegativity are usually _______

[metallic/non-metallic]

Watch Video Solution

18. Fill in the blanks with the appropriate word/s 

An atom is said to be a non-metal if it ___[gains/Ioses] one or more

electrons.

Watch Video Solution

https://dl.doubtnut.com/l/_oGbSSih2CkAZ
https://dl.doubtnut.com/l/_2WszcELeqgpU
https://dl.doubtnut.com/l/_tISe1Q0jtQQH


19. Fill in the blanks with the appropriate word/s 

Atoms with _______ [small/large] atomic radii &.

_____[high/low]ionisation potential tend to gain electrons.

Watch Video Solution

20. Fill in the blanks with the appropriate word/s 

Element 'X in period 3 has high electronaffinity & electronegativity.

It is likely to bea [metal/non-metal]

Watch Video Solution

21. Fill in the blanks with the appropriate word/s 

Element 'B' in period 2 is to the right of nent'A. Element 'B' is likely

to be ____ [more/less] non-metallic in character than element A

Watch Video Solution

https://dl.doubtnut.com/l/_YeH6LD9Akjbt
https://dl.doubtnut.com/l/_FNoFUqlLJzIr
https://dl.doubtnut.com/l/_5aoRlmjD8CT4


22. Fill in the blanks with the appropriate word/s 

Element 'Z' in sub-group 2[IIA] is below element Y in the same sub-

group. The element Z will be expected to have ____ [higher/lower]

atomic size and ____ [more/less] metallic character than Y

Watch Video Solution

23. Fill in the blanks with the appropriate word/s 

Argon in period 3 is likely to have a ________[larger/smaller] atomic

size than chlorine and its electron affinity value would be _____

[Greater/lesser/zero] compared to chlorine

Watch Video Solution

https://dl.doubtnut.com/l/_5aoRlmjD8CT4
https://dl.doubtnut.com/l/_8KQZZw5hAoLu
https://dl.doubtnut.com/l/_FeQGJoR8Dw0j


Additional Questions Give Reasons For The Following

24. Fill in the blanks with the appropriate word/s 

Across a period - Atomic size and metallic character __________ while

I.P.. E.A. EN and non-metallic character ____ and nuclear charge

_______[ increases/ decreases] 

Down a group- Atomic size and metallic character _______ while.P,

E.A., E.N and non-metallic character _____ and nuclear charge

____________ [increases/decreases]

Watch Video Solution

1. Give reason 

In the same period or subgroup a gradual change in a particular

property may be seen.

Watch Video Solution

https://dl.doubtnut.com/l/_w75yi5GKEqo5
https://dl.doubtnut.com/l/_qayo5i6XD3rI


2. Give reason 

Atomic size of group 18 [0 group] elements is more than the atomic

size of group 17 [VIIA] elements

Watch Video Solution

3. Give reason 

Ionisation potential increases with increase in nuclear charge of

the elements.

Watch Video Solution

4. Give reason 

Electron affinity of noble gas elements is zero.

Watch Video Solution

https://dl.doubtnut.com/l/_qayo5i6XD3rI
https://dl.doubtnut.com/l/_pq9kkFfhMTgx
https://dl.doubtnut.com/l/_xBJugDzYnCP3
https://dl.doubtnut.com/l/_NGUDNG8tcjPe


5. Give reason 

Phosphorus, sulphur and chlorine are electronegative elements of

the periodic table.

Watch Video Solution

6. Give reason 

Sulphur Is placed in group 16 [VIA], chlorine in group

17[VIIA]butargon in group 18 [0 group] of the periodic table

Watch Video Solution

7. Statement-1 : Electronegativity of an element depends on

ionisation energy of that element. 

Statement-2 : Electroegativity regularly decreases along the group. 

Statement-3 : Fluorine is the most electronegative element.

https://dl.doubtnut.com/l/_NGUDNG8tcjPe
https://dl.doubtnut.com/l/_bbA5v31cHm7y
https://dl.doubtnut.com/l/_rkX6btrOpPod
https://dl.doubtnut.com/l/_em4rqvp2kTj5


Watch Video Solution

8. Give reason 

Atoms with large atomic radii and low ionisation potential are

more metallic in nature.

Watch Video Solution

9. Give reason 

A decrease in ionisation potential of an element leads toa decrease

in non-metallic of the element

Watch Video Solution

10. Give reason 

Atomic size decreases across a period but increases down a group

https://dl.doubtnut.com/l/_em4rqvp2kTj5
https://dl.doubtnut.com/l/_kLNKO3cjNcXq
https://dl.doubtnut.com/l/_0yX5k5rvVieC
https://dl.doubtnut.com/l/_i7Ws09vynpS8


Unit Test Paper 1 Periodic Table

of the periodic table

Watch Video Solution

1. In period 2, element 'A' is to the right of element 'B'. 

The element 'A' would probably have a ____ [smaller/larger] atomic

size than 'B'.

Watch Video Solution

2. In period 2, element 'A' is to the right of element 'B'. 

The element 'B' would probably have ____[lower/higher] ionisation

potential than 'A'.

Watch Video Solution

https://dl.doubtnut.com/l/_i7Ws09vynpS8
https://dl.doubtnut.com/l/_mhmjWPoeM1f3
https://dl.doubtnut.com/l/_xMQYyImtP2qJ


3. In period 2, element 'A' is to the right of element 'B'. 

The element 'A' would have. ______ [lesser/higher] electron affinity

than 'B'.

Watch Video Solution

4. In period 2, element 'A' is to the right of element 'B'. 

Nuclear charge of element 'B' would be ________[less/more] than

element 'A'.

Watch Video Solution

5. In period 2, element 'A' is to the right of element 'B'. 

If an element 'C' had a low electronegativity and ionisation

potential it would have more tendency to _______ [gain/lose]

electrons.

https://dl.doubtnut.com/l/_ufLs92LM3LNe
https://dl.doubtnut.com/l/_YJy5xCDCFu70
https://dl.doubtnut.com/l/_x5j6ineI1ibx


Watch Video Solution

6. With reference to period 3 of the periodic table - State: 

The type of bonding of the element with electronic configuration 2,

8, 7.

Watch Video Solution

7. With reference to period 3 of the periodic table - State: 

The formula of the chloride of the element with electronic

configuration 2, 8, 4.

Watch Video Solution

8. With reference to period 3 of the periodic table - State: 

The nature of the oxide of the alkaline earth metal in the period.

https://dl.doubtnut.com/l/_x5j6ineI1ibx
https://dl.doubtnut.com/l/_0dugD46QvYew
https://dl.doubtnut.com/l/_zEoaXsWiDLlA
https://dl.doubtnut.com/l/_IJvyzYAQW1FP


Watch Video Solution

9. With reference to period 3 of the periodic table - State: 

The number of electrons in the penultimate shell of the element

with valency -1.

Watch Video Solution

10. With reference to period 3 of the periodic table - State: 

The electronic configuration of the element whose hydroxide is a

weak base.

Watch Video Solution

11. With reference to group 1 [IA] of the periodic table - fill in the

blanks with the correct word: 

https://dl.doubtnut.com/l/_IJvyzYAQW1FP
https://dl.doubtnut.com/l/_F0uPTBcasy9S
https://dl.doubtnut.com/l/_VFGxMqVpnLgo
https://dl.doubtnut.com/l/_hqowzRCARZjY


The elements are _____ [light/heavy]. __________[metals/non-metals]

since their atomic size is _______ [large/small]. The energy binding

the atoms is ______ [high/low] and hence the elements have

[high/low] melting points. The melting points of the elements ______

[increases/decreases] down the subgroup. The electropositive

character._______ [increases/decreases] down the subgroup and the

elements are strong _______ [reducing/oxidizing] agents. The

element with electronic configuration 2,8,1 will have _______

[higher/lower] electronaffinity and _______ [smaller/larger] atomic

size than the element with electronic configuration 2,1.

Watch Video Solution

12. Match the elements in column 'X' with the correct group they

belong from column 'Y'. 

https://dl.doubtnut.com/l/_hqowzRCARZjY
https://dl.doubtnut.com/l/_nGWyeB9zwAP6


Watch Video Solution

13. Give reasons for 

Occurrence of characteristic properties of elements takes place at

definite intervals in the modern periodic table.

Watch Video Solution

14. Give reasons for 

Properties of elements are periodic functions of their atomic

numbers and not atomic weights.

Watch Video Solution

https://dl.doubtnut.com/l/_nGWyeB9zwAP6
https://dl.doubtnut.com/l/_Z09Vq2CrnyKF
https://dl.doubtnut.com/l/_ori6aF1Zqs0Z


15. Give reasons for 

Atomic size of an element depends on the nuclear charge of that

element.

Watch Video Solution

16. Give reasons for 

Down a group electronegativity should increase with increase in

nuclear charge but it is seen that the electronegativity decreases.

Watch Video Solution

17. Give reasons for 

If combining atoms have nearly similar electronegativities the bond

between them is covalent.

Watch Video Solution

https://dl.doubtnut.com/l/_xuFsodf2vk42
https://dl.doubtnut.com/l/_JuhgkVUX2cEv
https://dl.doubtnut.com/l/_kFWcWQtZ60Oj


18. Arrange the element as per the guidelines in brackets. 

Na, Cl, Mg, P [in decreasing order of atomic size]

Watch Video Solution

19. Arrange the element as per the guidelines in brackets. 

C, Li, F, N [in increasing order of electronegativity]

Watch Video Solution

20. Arrange the element as per the guidelines in brackets. 

CI, Al, Na, S[in increasing order of ionisation potential]

Watch Video Solution

https://dl.doubtnut.com/l/_kFWcWQtZ60Oj
https://dl.doubtnut.com/l/_qZgt3PmCuqk4
https://dl.doubtnut.com/l/_K6aCa5v4qjvD
https://dl.doubtnut.com/l/_WIngTQr6gL1Z


21. Arrange the element as per the guidelines in brackets. 

Li, F, C, O[in increasing order of electron affinity]

Watch Video Solution

22. Arrange the element as per the guidelines in brackets. 

Ar, He, Ne [in increasing order of number of electron shells]

Watch Video Solution

https://dl.doubtnut.com/l/_MWlBCqdif1Xt
https://dl.doubtnut.com/l/_PVpAWDwzfFmG

